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10-17. See below:

a. See table below. %}*‘20 ~61%

did not
purchased purchase
washer washer

purchased dryer 44 20
did not purchase dryer 44 69
S8 89

44 ~ 500
b. 38 50%

10-18. See solution graph below.
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10-19. [m-31/<5,26<m<36

10-20. See diagram below.
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10-21. See below:
a. Since the colony doubles every day and it would be covered on February 21, then it is half covered on February 20.
b.t(n)y=a-2"

c. 100=a 2% a= 190~ 0.0244%

d.n=15,s01(5) =0.78%
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10-22. See below:
a.3,15,75,375
b. 10, -50, 250, 1250

10-23. Denali has 18 pieces of candy.




